
SAP ABAP table V_TIVORCOND {Generated Table for View}

V_TIVORCOND

MANDT [CLNT (3)]

RRTYPE [CHAR (2)]

ACQUISTYPE [CHAR (2)]

CDGROUP01 [CHAR (4)]

CDTYPE01 [CHAR (4)]

CDCURR01 [CUKY (5)]

CDPURPOSE01 [CHAR (4)]

CDCALCMEAS01 [CHAR (4)]

CDGROUP02 [CHAR (4)]

CDTYPE02 [CHAR (4)]

CDCURR02 [CUKY (5)]

CDPURPOSE02 [CHAR (4)]

CDCALCMEAS02 [CHAR (4)]

CDGROUP03 [CHAR (4)]

CDTYPE03 [CHAR (4)]

CDCURR03 [CUKY (5)]

CDPURPOSE03 [CHAR (4)]

CDCALCMEAS03 [CHAR (4)]

CDGROUP04 [CHAR (4)]

CDTYPE04 [CHAR (4)]

CDCURR04 [CUKY (5)]

CDPURPOSE04 [CHAR (4)]

CDCALCMEAS04 [CHAR (4)]

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 V_TIVORCOND-CDCURR01 = TCURC-WAERS 

0..N

0..N

 V_TIVORCOND-CDCURR02 = TCURC-WAERS 

0..N

0..N

 V_TIVORCOND-CDCURR03 = TCURC-WAERS 0..N

0..N

 V_TIVORCOND-CDCURR04 = TCURC-WAERS 
0..N

0..N

TIVBDMEAS

MANDT [CLNT (3)]

MEAS [CHAR (4)]

 V_TIVORCOND-CDCALCMEAS01 = TIVBDMEAS-MEAS 

0..N0..N  V_TIVORCOND-CDCALCMEAS02 = TIVBDMEAS-MEAS 

0..N

0..N
 V_TIVORCOND-CDCALCMEAS03 = TIVBDMEAS-MEAS 0..N

0..N
 V_TIVORCOND-CDCALCMEAS04 = TIVBDMEAS-MEAS 

0..N

0..N

TIVCDCONDGROUP

MANDT [CLNT (3)]

CONDGROUP [CHAR (4)]

 V_TIVORCOND-CDGROUP01 = TIVCDCONDGROUP-CONDGROUP 

0..N0..N
 V_TIVORCOND-CDGROUP02 = TIVCDCONDGROUP-CONDGROUP 

0..N
0..N  V_TIVORCOND-CDGROUP03 = TIVCDCONDGROUP-CONDGROUP 0..N
0..N

 V_TIVORCOND-CDGROUP04 = TIVCDCONDGROUP-CONDGROUP 0..N
0..N

TIVCDCONDTYPE

MANDT [CLNT (3)]

CONDTYPE [CHAR (4)]

 V_TIVORCOND-CDTYPE01 = TIVCDCONDTYPE-CONDTYPE 

0..N

0..N

 V_TIVORCOND-CDTYPE02 = TIVCDCONDTYPE-CONDTYPE 

0..N

0..N

 V_TIVORCOND-CDTYPE03 = TIVCDCONDTYPE-CONDTYPE 0..N
0..N

 V_TIVORCOND-CDTYPE04 = TIVCDCONDTYPE-CONDTYPE 0..N0..N

TIVCDCOPUEXT

MANDT [CLNT (3)]

CONDPURPOSEEXT [CHAR (4)]

 V_TIVORCOND-CDPURPOSE01 = TIVCDCOPUEXT-CONDPURPOSEEXT 

0..N

0..N

 V_TIVORCOND-CDPURPOSE02 = TIVCDCOPUEXT-CONDPURPOSEEXT 

0..N

0..N

 V_TIVORCOND-CDPURPOSE03 = TIVCDCOPUEXT-CONDPURPOSEEXT 
0..N

0..N

 V_TIVORCOND-CDPURPOSE04 = TIVCDCOPUEXT-CONDPURPOSEEXT 
0..N

0..N

TIVORRRTYPE

MANDT [CLNT (3)]

RRTYPE [CHAR (2)]

 V_TIVORCOND-RRTYPE = TIVORRRTYPE-RRTYPE 

0..N

0..N


